3350

CEYEHUE B-B
MACLITAB 1 + 100

CEYEHAE B-B

MACLUTAB 1 : 100

BUA T
MACLITAB 1 + 100
_“ b3
11330 b o
4479 4376 -
2247 , g
| D
N o
= A
40 % 44 % 40 % 44 % 100

CEUEHUE A-A
= MACLUTAB 1+ 100
w ¥- PasMep 415 CNPaBKK
= 1MPMeHsTL MONYABTOMATMUECKYI0
5 CBOPKY B 30UMTHbIX Q30X MO /vT. | Macca|MacwTos)
= FOCT 14771-76 , kaTeT wea@ Mo Moan. [AaT

HOMMEHbWen TOALMHE \

CBAPMBAEMbIX AeTaNen. P9.09.2010 8208 QUQ
< 2llpegenbHele OTK/AOHEHMS PO3MePOR
= tT16/2 Mct T T J/uctoe 12
2 3lUsbl NPOBEPMTL HA Teub
& KePOCMHO~ME/NIOBHM CMOCOBOM.
= 4HapyXHOe OHTMKOOPOBUMHOE MOKPHTME , QQQ\QQZK ZWK_.,\\

Kornvpoean PopmaT A3




